BID2021-09 MILL AND PAVE AT 168 FRANKLIN CORNER ROAD, LAWRENCE TOWNSHIP FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER BID OPENED 2/10/2021 AT 11:00AM

BID2021-09 MILL AND PAVE AT 168 FRANKLIN CORNER									
ROAD, LAWRENCE TOWNSHIP FOR THE CITY OF									
TRENTON, DEPARTMENT OF									
WATER AND SEWER NUMBER OF RESPONDENTS:	9	DIGULARD T							
NAME OF BIDDER	EARLE ASPHALT	RICHARD T. BARRETT PAVING CO., INC.	S&G PAVING, INC.	BLACK ROCK ENTERPRISES, LLC	GRES PAVING CO., INC.	LIMA CHARLIE	DIAMOND CONSTRUCTI ON	AMERICAN ASPHALT COMPANY, INC.	WATERS AND BUGBEE, INC.
ADDRESS	P.O. BOX 556	400 PROSPECT STREET	224C FORSGATE DRIVE	1316 ENGLISHTOWN ROAD		1 BROAD STREET, SUITE 4	35 BEAVERSON BLVD, SUITE	100 MAIN STREET	75 SOUTH GOLD DRIVE
	FARMINGDALE,	TRENTON, NJ	JAMSBURG, NJ	OLD BRIDGE,	TRENTON, NJ	FREEHOLD, NJ	BRICK, NJ	WEST COLLINGSW OOD, NJ	HAMILTON,
CITY, STATE, ZIP	NJ 07727	08618 RICHARD T.	08831 STANLEY J.	NJ 08857 JACQUELINE	08619 DINO	07728	08723 JOHN KOVAS,	08059 ROBERT	NJ 08691 CHARLES P.
CONTACT NAME TELEPHONE	732-308-1113	BARRETT 609-882-2236	WEICKINSKI, JR. 732-521-1936	VALE 732-967-6400	COLAROCCO 609-890-6848	JEFF CANTOR 833-242-2427	PRESIDENT 732-262-7449	MONCRIEF 856-373-	WATERS 609-584-1100
FAX	732-308-1113	609-396-0572	732-521-1936	732-967-6400	609-890-7702	732-955-8301	732-262-7449	2899	609-584-2200
						ESTIMATING@L		@AMERICA	
	BMEAD@EARLE	EILEEN@RTBA RRETTPAVING	SGPSTAN@YA	INFO@BLACK	GRESPAVING	IMECHARLIECO NSTRUCTION.C	DIAMONDJOH NA@YAHOO.	NASPHALTC OMPANY.CO	BIDS@WATE RSANDBUGB
E-MAIL STATEMENT OF OWNERSHIP	CO.COM	.COM	HOO.COM	ROCKNJ.COM	@AOL.COM	OM	СОМ	M	EE.COM
DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
		10% NORTH			10% GREAT			AND DEPOSIT	10% FIDELITY
	10% FEDERAL	AMERICAN SPECIALTY	10% OLD REPUBLIC	10% GREAT AMERICAN	AMERICAN INSURANCE	10% THE AMERICAN	10% BONDEX	COMPANY OF	AND DEPOSIT COMPANY
	INSURANCE COMPANY	INSURANCE COMPANY	INSURANCE COMPANY	INSURANCE COMPANY	COMPANY W.P.O.A/JEAN	INSTITUTE OF ARCHITECTS	INSURANCE COMPANY	MARYLAND W.P.O.A/ELIZ	OF MARYLAND
	W.P.O.A/DONNA	W.P.O.A/LYNN	W.P.O.A/PHILIP	W.P.O.A/LISA	NE	W.P.O.A/RICHA	W.P.O.A/PHILI	ABETH P.	W.P.O.A/ROB
BID GUARANTEE	M. PLANETA	M. WHEELOCK NORTH	S. TOBEY	NOSAL	PRIMAVERA	RD V. DOBBS	P S. TOBEY	CERVINI AND	ERT B. PITTS FIDELITY AND
	5505044	AMERICAN	010 050110110	GREAT	GREAT	THE 44 (FRIO 44)	DOUBEY	DEPOSIT	DEPOSIT
	FEDERAL INSURANCE	SPECIALTY INSURANCE	OLD REPUBLIC INSURANCE	AMERICAN INSURANCE	AMERICAN INSURANCE	THE AMERICAN INSTITUTE OF	BONDEX INSURANCE	COMPANY OF	COMPANY OF
CONSENT OF SURETY	COMPANY	COMPANY REQUIRED	COMPANY REQUIRED	COMPANY REQUIRED	COMPANY REQUIRED	ARCHITECTS	COMPANY REQUIRED	MARYLAND REQUIRED	MARYLAND REQUIRED
	REQUIRED FROM	FROM	FROM	FROM	FROM	REQUIRED FROM	FROM	FROM	FROM
PERFORMANCE BOND AND	AWARDED VENDOR WITH	AWARDED VENDOR WITH	AWARDED VENDOR WITH	AWARDED VENDOR WITH	AWARDED VENDOR WITH	AWARDED VENDOR WITH	AWARDED VENDOR WITH		AWARDED VENDOR WITH
LABOR AND MATERIAL PAYMENT BOND	SIGNED CONTRACTS	SIGNED CONTRACTS	SIGNED CONTRACTS	SIGNED CONTRACTS	SIGNED CONTRACTS	SIGNED CONTRACTS	SIGNED CONTRACTS	WITH SIGNED CONTRACTS	SIGNED CONTRACTS
AFFIRMATIVE ACTION REGULATIONS	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
MANDATORY EQUAL EXHIBIT A	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
MANDATORY EQUAL									
EXHIBIT B ACKNOWLEDGEMENT OF	INCLUDED	INCLUDED	INCLUDED	NOT SUBMIT AT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
RECEIPT OF ADDENDA#1				THE TIME OF					
AND POSTPONEMENT DATED 1/20/2021	INCLUDED	INCLUDED	INCLUDED	THE BID OPENING	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION				REQUIRED FROM					
CERTIFICATE OF CONTRACTOR	INCLUDED	INCLUDED	INCLUDED	AWARDED VENDOR	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CONTRACTOR		CERT.#615531		CERT.#667926	CERT.#57716		CERT.#69394	CERT.#50705	CERT.#61716
NJPW FROM CONTRACTOR	CERT.#18315 EXP. 05/05/2021	EXP. 03/07/2022	CERT.#609363 EXP. 04/05/2021	EXP. 02/08/2021	EXP. 05/05/2022	CERT.#723226 EXP. 04/14/2021	EXP. 03/07/2022	EXP. 05/05/2021	EXP. 04/03/2022
		CERT.#21868		REQUIRED FROM	CERT.#15417	REQUIRED FROM	CERT.#22398	CERT.#6353	CERT.#22282
EIC FROM CONTRACTOR	CERT.#5657 EXP. 12/15/2022	EXP. 10/15/2024	CERT.#59154 EXP. 05/15/2025	AWARDED VENDOR	EXP. 10/15/2021	AWARDED VENDOR	EXP. 02/15/2025	EXP. 01/15/2023	EXP. 01/15/2028
NOTICE OF INTENT TO SUBCONTRACT	YES	YES	YES	YES	YES	NO	NO	YES	YES
SUBCONTRACT	YES SEE	YES SEE	YES SEE	YES SEE	YES SEE	NO	INO	YES SEE	YES SEE
SUBCONTRACTOR(S)	ATTACHED	ATTACHED	ATTACHED	ATTACHED	ATTACHED	NO	NO	ATTACHED	ATTACHED
NJ BUSINESS REGISTRATION CERTIFICATE FROM	YES SEE	YES SEE	YES SEE	YES SEE	YES SEE			YES SEE	YES SEE
SUBCONTRACTOR(S) NJPW CONTRACTOR	ATTACHED	ATTACHED	ATTACHED	ATTACHED	ATTACHED	N/A	N/A	ATTACHED	ATTACHED
REGISTRATION CERTIFICATE									
FROM SUB- CONTRACTOR(S)	YES SEE ATTACHED	YES SEE ATTACHED	YES SEE ATTACHED	YES SEE ATTACHED	YES SEE ATTACHED	N/A	N/A	YES SEE ATTACHED	YES SEE ATTACHED
PREVAILING WAGE STATEMENT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EQUIPMENT CERTIFICATION	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NON-COLLUSION	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AFFADAVIT AMERICANS WITH	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ETHIC COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	N/A	INCLUDED
EMPLOTMENT POLICY		REQUIRED	REQUIRED	REQUIRED	REQUIRED		REQUIRED	REQUIRED	REQUIRED
CERTIFICATE OF	REQUIRED FROM AWARDED	FROM AWARDED	FROM AWARDED	FROM AWARDED	FROM AWARDED	REQUIRED FROM AWARDED	FROM AWARDED	FROM AWARDED	FROM AWARDED
INSURANCE 60-DAY EXTENSION	VENDOR	VENDOR	VENDOR	VENDOR	VENDOR	VENDOR	VENDOR	VENDOR	VENDOR
COMPLIANCE COMPLIANCE WITH	YES	YES	YES	YES	YES	YES	YES	YES	YES
EMERGENCY SERVICES REFERENCES	NO INCLUDED	NO	YES	YES	YES INCLUDED	YES	YES	YES	YES
EXCEPTIONS (IF ANY)	NONE	NONE NONE	NONE NONE	NONE NONE	NONE	NONE NONE	NONE NONE	NONE NONE	NONE NONE
							\$54,038.00	\$68,996.95 SEE	\$70,473.20
	\$28,313.13 SEE ATTACHED	\$28,847.00 SEE ATTACHED	\$32,977.00 SEE ATTACHED	\$37,000.00 SEE ATTACHED	\$44,664.08 SEE ATTACHED	\$45,586.75 SEE ATTACHED	SEE ATTACHED	ATTACHED BREAKDOW	SEE ATTACHED
TOTAL BASE BID FOR ITEMS#1-10	BREAKDOWN OF PRICING	BREAKDOWN OF PRICING	BREAKDOWN OF PRICING	BREAKDOWN OF PRICING	BREAKDOWN OF PRICING	BREAKDOWN OF PRICING	BREAKDOWN OF PRICING	N OF PRICING	BREAKDOWN OF PRICING
FATAL FLAW	NONE	NONE	NONE	FATAL FLAW	NONE	NONE	NONE	NONE	NONE



FY2020 Emergency Mill and Top 2" Bid Proposal 168 Franklin Corner Road

Item	Qty	Unit	Lawrence Twp., New Jersey Description	Unit Price	Total Price
1	715	SY	Mill 2"of Existing Roadway and Dispose of all Millings Off Site	\$ <u>13.13</u>	\$9,387.95
2	715	SY	Install 2" of 1-5 Super Pave F.A.B.C.	\$18.88	\$13,499.20
3	256	L.F.	Install Center Line Yellow Epoxy Striping	\$5.00	\$1,280.00
4	76	L.F.	Install Center Line Dashed Epoxy Yellow Striping	\$5.00	\$380.00
5	44	L.F.	Install White Lane Epoxy Striping	\$3.00	\$132.00
6	120	L.F.	Install White Shoulder Lane Epoxy Striping	\$3.00	\$360.00
7	1	N/A	Raise Valve Box Top Section and Re-set in Concrete Collar, 5,000 P.S.I.	\$0.01	\$0.01
8	1	N/A	M.C.D.O.T. and Lawrence Twp. Police This may Include Police Officers on site		
			And for the work to be performed on a Saturday or after normal working hours	\$3,273.97	\$3,273.97
				TOTAL	\$28,313.13

 $NOTE: The \textit{quantities} shown \textit{are approximate only} \textit{ and based on the concurrent judgement of the } TWW \textit{and } TWW \textit{an$ the jurisdiction having authority. The contractor shall review all submitted information and the area in where work is to be performed before preparing the bid.

neering

24 hour On-Call Emergency Pager or Cellular Telephoned: (732) 904-0560

NAME	Traffic Lines, Inc.
ADDRESS	5100 Asbury Road
	Farmingdale, NJ 07727
	(732) 919-3100
FAX NO	(732) 919-3101
TRADE	Striping
LICENSE NO	N/A
NAME	
ADDRESS	
CITY, STATE, ZIP	
TELEPHONE:	
FAX NO	
TRADE	
LICENSE NO	
NAME	
ADDRESS	
CITY, STATE, ZIP	
TELEPHONE:	
FAX NO	
TRADE	
LICENSE NO	_
NAME	
ADDRESS	
CITY, STATE, ZIP	
TELEPHONE:	
FAX NO	
TRADE	
LICENSE NO	
ADDRESS	
CITY, STATE, ZIP	
TELEPHONE:	
FAX NO	
TRADE	
LICENSE NO.	



FY2020 Emergency Mill and Top 2" Bid Proposal

168 Franklin Corner Road Lawrence Twp., New Jersey

Item	Qty	Unit	Description	Unit Price	Total Price
1	715	SY	Mill 2"of Existing Roadway and Dispose of all Millings Off Site	13.00	9295.00
2	715	SY	Install 2" of 1-5 Super Pave F.A.B.C.	20.00	14,300,00
3	256	L.F.	Install Center Line Yellow Epoxy Striping	5.00	1280.00
4	76	L.F.	Install Center Line Dashed Epoxy Yellow Striping	5.00	380.00
5	44	L.F.	Install White Lane Epoxy Striping	3.00	132.00
6	120	L.F.	Install White Shoulder Lane Epoxy Striping	3,00	360.00
7	1	N/A	Raise Valve Box Top Section and Re-set in Concrete Collar, 5,000 P.S.I.	500.00	500.00
8	1	N/A	Provide an approved Lane Closure Plan to M.C.D.O.T. and Lawrence Twp. Police This may Include Police Officers on site And for the work to be performed on a)(40.4)	S. d. mar.
			Saturday or after normal working hours	2600.00	2600,00
				TOTAL	28,847.00

NOTE: The quantities shown are approximate only and based on the concurrent judgement of the TWW and the jurisdiction having authority. The contractor shall review all submitted information and the area in where work is to be performed before preparing the bid.

(Company) M AVING Co. IN

(Authorized Signature) (Date

Person to Contract (Type or Print):

609-8822236

Telephone Number:

24 hour On-Call Emergency Pager or Cellular Telephoned: 69-962-508

NAME STRAIGT EDGE STRIPING
ADDRESS 201 WILTON AVE.
CITY, STATE, ZIP MIDDLESEX N.J. 08846
TELEPHONE: 732-301
FAX NO. 732 - 469 - 4813
TRADE STRIPING & SIGNAGE
LICENSE NO. N/A
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO
NIANATT
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADELICENSE NO.
LICLINGE INC.

FY2020 Emergency Mill and Top 2"
Bid Proposal

168 Franklin Corner Road Lawrence Twp., New Jersey



nc. 3

Item	Qty	Unit	Description	Unit Price	Total Price
1	715	SY		# 15.	# 10,725 -
2	715	SY	Install 2" of 1-5 Super Pave F.A.B.C.	20.	14300
3	256	L.F.	Install Center Line Yellow Epoxy Striping	_5_	1,280.
4	76	L.F.	Install Center Line Dashed Epoxy Yellow Striping	<u></u>	380-
5	44	L.F.	Install White Lane Epoxy Striping	_3	132.
6	120	L.F.	Install White Shoulder Lane Epoxy Striping	3.1	3160
7	1	N/A	Raise Valve Box Top Section and Re-set in Concrete Collar, 5,000 P.S.I.	800.	<u>800</u> .
8	1	N/A	Provide an approved Lane Closure Plan to M.C.D.O.T. and Lawrence Twp. Police This may Include Police Officers on site And for the work to be performed on a Saturday or after normal working hours	S,000	<u> 5,000</u>
				TOTAL	32977.00

NOTE: The quantities shown are approximate only and based on the concurrent judgement of the TWW and the jurisdiction having authority. The contractor shall review all submitted information and the area in where work is to be performed before preparing the bid.

(Authorized Signature) Weichin SKi Jn.

Person to Contract (Type or Print):

732-521-1936

Telephone Number:

24 hour On-Call Emergency Pager or Cellular Telephoned: 732-620 -6773

NAME IDATES LIVES THE
NAME JRAFFIC Lives, Tac. ADDRESS 5100 Astrony Pel.
CITY, STATE, ZIP FANNINGCLALE, N. J. TELEPHONE: 732-919-3100
TELEPHONE: 737- 910-3/100
FAX NO.
FAX NO.
TRADE SIMIPONY LICENSE NO. See B.R.
LICENSE NO. SEE B.R.
NIANAE
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO
NIANAE
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO.



FY2020 Emergency Mill and Top 2" **Bid Proposal**

168 Franklin Corner Road Lawrence Twp., New Jersey

Item	Qty	Unit	Description	Unit Price	Total Price
1	715	SY	Mill 2"of Existing Roadway and Dispose of all Millings Off Site	\$ 20.00	\$ 14.300.00
2	715	SY	Install 2" of 1-5 Super Pave F.A.B.C.	\$20.00	\$14,300.00
3	256	L.F.	Install Center Line Yellow Epoxy Striping	\$5.00	\$1,280.00
4	76	L.F.	Install Center Line Dashed Epoxy Yellow Striping	\$ 5.00	\$ 380.00
5	44	L.F.	Install White Lane Epoxy Striping	\$ 5.00	9 220.00
6	120	L.F.	Install White Shoulder Lane Epoxy Striping	\$ 5.00	\$ 600.00
7	1	N/A	Raise Valve Box Top Section and Re-set in Concrete Collar, 5,000 P.S.I.	\$ 2,000.00	\$ 2,660.00
8	1	N/A	Provide an approved Lane Closure Plan to M.C.D.O.T. and Lawrence Twp. Police This may Include Police Officers on site And for the work to be performed on a Saturday or after normal working hours	\$ 3,920.00	\$3,920

Thirty Seven thousand dollars and Zono Cents

NOTE: The quantities shown are approximate only and based on the concurrent judgement of the TWW and the jurisdiction having authority. The contractor shall review all submitted information and the area in where work is to be performed before preparing the bid.

Black Rock Enterprises LLC	
(Company)	
Jacqueline Vale 2/4/2021	
(Authorized Signature) (Date)	4
Jacqueline Valy managing	Member
Person to Contract (Type or Print):	
732 - 967 - 6400	
Telephone Number:	

Telephone Number:

24 hour On-Call Emergency Pager or Cellular Telephoned: 732-797-8542

NAME Straight Edge Striping
ADDRESS 201 Wilton Avenue
CITY, STATE, ZIP Middlesex WT 08846
TELEPHONE: 733-302-300)
FAX NO. 732 - 969 - 48/2
LICENSE NO. Cofporate package extracts (
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO.
TRADE
LICENSE NO
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO



FY2020 Emergency Mill and Top 2"
Bid Proposal
168 Franklin Corner Road
Lawrence Twp., New Jersey

Item	Qty	Unit	Description	Unit Price	Total Price
1	715	SY	Mill 2"of Existing Roadway and Dispose of all Millings Off Site	25.00	17,875,
2	715	SY	Install 2" of 1-5 Super Pave F.A.B.C.	25.00	17,875,
3	256	L.F.	Install Center Line Yellow Epoxy Striping	9.08	2324.48
4	76	L.F.	Install Center Line Dashed Epoxy Yellow Striping	4.54	345. ⁰⁴
5	44	L.F.	Install White Lane Epoxy Striping	4.54	199.76
6	120	L.F.	Install White Shoulder Lane Epoxy Striping	4.54	544.80
7	1	N/A	Raise Valve Box Top Section and Re-set in Concrete Collar, 5,000 P.S.I.	500.00	500.
8	1	N/A	Provide an approved Lane Closure Plan to M.C.D.O.T. and Lawrence Twp. Police This may Include Police Officers on site And for the work to be performed on a Saturday or after normal working hours	5,000.	5,000.00
				TOTAL	44,664 08

NOTE: The quantities shown are approximate only and based on the concurrent judgement of the TWW and the jurisdiction having authority. The contractor shall review all submitted information and the area in where work is to be performed before preparing the bid.

(Company)

(Authorized Signature)

(Date)

Person to Contract (Type or Print):

Telephone Number:

NAME Traffic Lines, Inc.
ADDRESS 5100 ASDUCY Rd.
CITY, STATE, ZIP Farming dale, N.J. 07727
TELEPHONE: 732 - 919 - 3100
FAX NO. 732 - 919 - 3101
TRADE Striping
LICENSE NO. 0103981
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE;
FAX NO
TRADE
LICENSE NO
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO



FY2020 Emergency Mill and Top 2"
Bid Proposal

168 Franklin Corner Road Lawrence Twp., New Jersey

Item	Qty	Unit	Description	Unit Price	Total Price
1	715	SY	Mill 2"of Existing Roadway and Dispose of all Millings Off Site	15.00	10,725.00
2	715	SY	Install 2" of 1-5 Super Pave F.A.B.C.	42.25	30, 208, 75
3	256	L.F.	Install Center Line Yellow Epoxy Striping	5.00	1,280.00
4	76	L.F.	Install Center Line Dashed Epoxy Yellow Striping	5.00	_380.00
5	44	L.F.	Install White Lane Epoxy Striping	3.00	132 - 00
6	120	L.F.	Install White Shoulder Lane Epoxy Striping	3.00	360.00
7	1	N/A	Raise Valve Box Top Section and Re-set in Concrete Collar, 5,000 P.S.I.	1.00	1.00
8	1	N/A	Provide an approved Lane Closure Plan to M.C.D.O.T. and Lawrence Twp. Police This may Include Police Officers on site And for the work to be performed on a	2,500.00	2500
			Saturday or after normal working hours	2,300.00	2,500.00
				TOTAL	\$ 45,586.75

NOTE: The quantities shown are approximate only and based on the concurrent judgement of the TWW and the jurisdiction having authority. The contractor shall review all submitted information and the area in where work is to be performed before preparing the bid.

Limach	artie (onstruction		
(Authorized S	Signature	2/10/2021 (Date)	
Person to Contract (Type or Print):	- Cantor		
Telephone Number:	242 2427		
24 hour On-Call Emergency Pager or Cellul	lar Telephoned:		

FY2020 Emergency Mill and Top 2"
Bid Proposal



168 Franklin Corner Road Lawrence Twp., New Jersey

			Description	Unit Price	Total Price
Item	Qty	Unit	Description	FIICE	TILE
1	715	SY	Mill 2"of Existing Roadway and Dispose of all Millings Off Site	3200	22,8200
2	715	SY	Install 2" of 1-5 Super Pave F.A.B.C.	34.00	24,310
3	256	L.F.	Install Center Line Yellow Epoxy Striping	3	76800
4	76	L.F.	Install Center Line Dashed Epoxy Yellow Striping	5.00	380°®
5	44	L.F.	Install White Lane Epoxy Striping	5. 09	22000
6	120	L.F.	Install White Shoulder Lane Epoxy Striping	4.00	48000
7	1	N/A	Raise Valve Box Top Section and Re-set in Concrete Collar, 5,000 P.S.I.	2500"	250000
8	1	N/A	Provide an approved Lane Closure Plan to M.C.D.O.T. and Lawrence Twp. Police This may Include Police Officers on site And for the work to be performed on a Saturday or after normal working hours	2500 ^{ca)} .	250000
			Gathray of affer floring working flours		4,0380

NOTE: The quantities shown are approximate only and based on the concurrent judgement of the TWW and the jurisdiction having authority. The contractor shall review all submitted information and the area in where work is to be performed before preparing the bid.

(Company)

Authorized Signature)

(Company)

(Authorized Signature)

(Date)

JOHN KOVAS

Person to Contract (Type or Print):

732-262-7449

Telephone Number:

24 hour On-Call Emergency Pager or Cellular Telephoned: 732-362- 7949



FY2020 Emergency Mill and Top 2"
Bid Proposal
168 Franklin Corner Road

168 Franklin Corner Road Lawrence Twp., New Jersey

Item	Qty	Unit	Description	Unit Price	Total Price
1	715	SY	Mill 2"of Existing Roadway and Dispose of all Millings Off Site	32.00	_22,880.00
2	715	SY	Install 2" of 1-5 Super Pave F.A.B.C.	37.25	<u>26,633</u> .75
3	256	L.F.	Install Center Line Yellow Epoxy Striping	5.80	1,484.80
4	76	L.F.	Install Center Line Dashed Epoxy Yellow Striping	5.80	440.80
5	44	L.F.	Install White Lane Epoxy Striping	3.40	<u>149</u> .60
6	120	L.F.	Install White Shoulder Lane Epoxy Striping	3.40	4.08.00
7	1	N/A	Raise Valve Box Top Section and Re-set in Concrete Collar, 5,000 P.S.I.	7,000.00	<u>7,000</u> .00
8	1	N/A	Provide an approved Lane Closure Plan to M.C.D.O.T. and Lawrence Twp. Police This may Include Police Officers on site		
			And for the work to be performed on a Saturday or after normal working hours	1 <u>0,000.0</u> 0	10,000.00
				TOTAL	68,996.95

NOTE: The quantities shown are approximate only and based on the concurrent judgement of the TWW and the jurisdiction having authority. The contractor shall review all submitted information and the area in where work is to be performed before preparing the bid.

	American Asph	alt Compa	ny, Inc.	
	(Company	')		
	Lat /		February (<u>4, 20</u> 21
	(Authorized Signature)		(Date)	
	Patrick Polaz	zo, Secre	tary	
Person to Contract (Type	or Print):			
	856-456-2899			
Felephone Number:				
24 hour On-Call Emergency	Pager or Cellular Telephoned	: 856-373-0	123	

NAME	Straight Edge STriping
ADDRESS	201 Wilton Avenue
CITY, STATE, ZIP	Middlesex, NJ 08846
TELEPHONE;	732-302-3001
FAX NO	732-469-4812
TRADE	Striping
LICENSE NO	
NAME	
ADDRESS	
CITT, STATE, ZIF	-
TELEPHONE:	
FAX NO	
TRADE	
LICENSE NO	
NAME	
ADDRESS	
CITY, STATE, ZIP	
TELEPHONE:	
FAX NO	
IRADE	
LICENSE NO	
NAME	
V D D D E C C	
CITY STATE 7ID	
TELEBRONE:	
EAV NO	
TPADE	
LICENSE NO.	
LICEINSE INO	
NAME	
ADDRESS	
TELEPHONE:	
FAX NO	
TRADE	
LICENSE NO	



FY2020 Emergency Mill and Top 2"
Bid Proposal

Did Froposal	
168 Franklin Corner Road	
Lawrence Twp., New Jersey	1

Item	Qty	Unit	Description	Unit Price	Total Price
1	715	SY	Mill 2"of Existing Roadway and Dispose of all Millings Off Site	\$7.55	\$5,398.25
2	715	SY	Install 2" of 1-5 Super Pave F.A.B.C.	\$46.45	\$33,211.75
3	256	L.F.	Install Center Line Yellow Epoxy Striping	\$5.45	\$1,395.20
4	76	L.F.	Install Center Line Dashed Epoxy Yellow Striping	\$5.45	\$414.20
5	44	L.F.	Install White Lane Epoxy Striping	\$5.45	\$239.80
6	120	L.F.	Install White Shoulder Lane Epoxy Striping	\$5.45	\$654.00
7	1	N/A	Raise Valve Box Top Section and Re-set in Concrete Collar, 5,000 P.S.I.	\$1,205.00	\$1,205.00
8	1	N/A	Provide an approved Lane Closure Plan to M.C.D.O.T. and Lawrence Twp. Police This may Include Police Officers on site And for the work to be performed on a Saturday or after normal working hours	\$27 Q55 0 0	\$27.855.00
			Saturday of after normal working hours	\$27,955.00	\$27,955.00
				TOTAL	\$70,473.20

NOTE: The quantities shown are approximate only and based on the concurrent judgement of the TWW and the concurrent properties of the transfer of the trathe jurisdiction having authority. The contractor shall review all submitted information and the area in where work is to be performed before preparing the bid.

Waters & Bugbee, Inc.	
(Authorized Signature)	2/10/21 (Date)
Charles P. Waters, Executive V.P. or Print):	
609-584-1100	_
	(Authorized Signature) Charles P. Waters, Executive V.P. or Print):

NAME_ Atlantic Infrastructure LLC
ADDRESSPO Box 1826
CITY, STATE, ZIP_Point Pleasant Beach, NJ 08742
TELEPHONE: 732-899-8994
FAX NO
FAX NOTRADEMill & Pave
LICENSE NON/A
NAMEZone Striping, Inc.
ADDRESS 718 Jacob Harris Lane, PO Box 568
CITY, STATE, ZIPGlassboro, NJ 08028
TELEPHONE: 856-582-5900
FAX NO. 856-582-1303
TRADE Line Striping
LICENSE NO
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO,
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
IRADE
LICENSE NO
NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO
TRADE
LICENSE NO